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Reasoning and Problem Solving.
‘Millmetres and Milihes.

Developing.
16.2.000mm + 3m = 5m

20.No, 5.00mi +1,000 = 5. 5 I ss than
s

3a.No, K s ncarrect because he has
6000mi o woter (4000mi + 2000m). ity
s AL(3L 10). 4L 1,000 = 4.000mi of
woler. ,000m | mere thon 4000mL.

Expecied
40.2.500mm +0:3m + 1S40 = 43m
S0.Mo. 1= somi<o5L
0501000 500m. 50 s mre thon
st

40,0 Jock s nconect becausehe hos
3000 (4 400+ 2.0n 2300mi +-
700mPeerhos3.0m 52+ 2 a4
260 500m) Peer b 100 of woter
mare than Jack.

s Desth
7a.5000mm+ 002m + 1 4m = 627m
8a.Mo, 0061 1,000 b
PR S —
Do

98, Mo, Logan s nconect because he has
.50 (5500 + 2 an 2750mi +
750m). Noah ha 2750 (wo s o 3
52 and 24+ 750m). Logen hs 750miof
et morethan Noch
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20,15 th folowing sifement conect?

ESNEN)

Eplain you answer.

g

So. K has 4000l of woter i s buckel
Bl hos 3L of waler In s bucket.

K s 2000mi o i bucke. By odds
o W bucker

Kisoys.
My bocket hasthe
st amount o water.

“a

1 he ight? Explin how you know.





image2.png
. s th folowing sifement conect?

Eplainyou answer. |

o Jack's buckelcan hoid ¢ s00m.

buckel haif way: Jack odds an exta
0mt o Peter ads an exva Soom.
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Milimetres and Milires

7. Wrich fuee mecsurement combine
o male 6.27m7

0. s th folowing siafement conect?
Eplainyou answer.

g

‘0. Logon's buckel con hod 5 500mi_
Noa? buckel can hold 3. Logan B hs
ucket hal way. Noah s s buckel fo
2" They then odd 750m o woler eoch.

w-.m..k
.._......m

|-nan0mh¢nm—y-nm





